Engineering Geology Lab Assignment-I

Name of the Institute: Mother Theresa Institute of Engineering & Technology, Palamaner.

Dept: Civil Engineering. Regd. No. ‘ ‘ ‘ ‘ ‘ ‘ ‘ | ‘ ‘ |

1.A. Find the Strike & Dip of the following contours.
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Lab Assignment-I

Engineering Geology
Name of the Institute: Mother Theresa Institute of Engineering & Technology, Palamaner.

Dept: Civil Engineering. Regd. No. ‘ ‘ ‘ ‘
1.B. Find the Strike & Dip of the following contours.
| lll | / | [ |
|II [ | |||
||| |II [ | { Ill
|I| | |'I II| III|I
| ' f .
200 f | rf i
| 300 / f f
a / 400 / , / /
f | / 500 [ | |
[ 600 / /
/ [ | 700 / '
f [ / f / 800 a0
|II |'I [ / IIIIII [ I,"
| | I|II I,'ll |
| | / | II|
" ' | | f f
/ “ | '
f | [ f f | |
| / / | | /
/ f . / | /
III | |I| [ |'I
[ ! Il| | |
f | f
|' / | / f E;
" [ [ * ’I
| | f IIl |II
| | | |'| |
“ |' [ ’ r
| / | .'I
/ ! | ||| {
| I|I f f
I / / | |
| [ ] j J*
0 100 200 300 400 | | |
f / /

Page 1.2

Siva Bharatha Murthy . T



Engineering Geology Lab Assignment-I

Name of the Institute: Mother Theresa Institute of Engineering & Technology, Palamaner.

Dept: Civil Engineering. Regd. No. ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘

Problem 2:
A bedded formation possesses an apparent dip of 1:10 due N 25°W. The direction of true strike is
N40°W-S40°E. Determine the direction and amount of true dip.
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Engineering Geology Lab Assignment-I

Name of the Institute: Mother Theresa Institute of Engineering & Technology, Palamaner.

Dept: Civil Engineering. Regd. No. ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘

Problem 3:
A formation has an apparent dip of 1:10 due S60°W. The amount of true dip is 1:4. Find the direction
of true dip.
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Engineering Geology Lab Assignment-I

Name of the Institute: Mother Theresa Institute of Engineering & Technology, Palamaner.

Dept: Civil Engineering. Regd. No. ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘

Problem 4:
A formation has a true dip of 1:5 due east. Determine the amount of apparent dip due N50°E. Also
find out the direction along which the amount of apparent dip will be 1:10.
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